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A) ¢ A’ that does not have a visible shape, rather it is hidden in a word.
This type is only ‘= 58 ",
It is of two kinds:

a. ‘(529 A’ that no apparent noun can represent it. This happens in places
such as in the first person of the present tense- as in ‘Ae i’ i.e. <(4f) Aei” and in
‘alai” je. (&) A~ and in masculine singular second person —as in ‘A<’ i.e.
‘(&ul) A3~ and in command verb second person masculine — as in ‘ae)” i.e.

(&) e

b. ‘s Jls» s’ that an apparent noun can represent it, such as the subject

pronoun in the singular second person —as in ‘(s4) Jaii < ai’ and Hiail (&l
(&#)- and in the derivative nouns — as in ‘() dle Sle’ and ¢(#) Al dalls’,




Note

Sometimes the pronoun is concealed in the derivative nouns as well; such as in
‘(8) M e or () Aaild Akl or (Laa) plaild (i1l and so on.

¢ sl a4’ (The reference of the pronoun)



Every pronoun has to have a reference to clarify it. The reference for the first
and second person is present when speaking and the reference for the third

person is what has come prior to the pronoun. This precession is of three types:

1. ¢ HBdl 3854 (wording precession)
Example: “odll Gsad (50 48 58 g3l (liasy 55 (The month of Ramagin is
one in which the Quran was sent down as guidance to mankind...) and « 55 3

Gaadls LSy 435 aual Ll

2. ¢ sal) 2383 (virtual precession)
Example: “s 580 &8 sk 151217 (be just, (for) it (justice) is closer to

Godwaryness) in which ‘s’ refers to ‘Jx=’ which is derived from ‘I gV’

3. ‘{Sall 2385 (disciplinary precession)
Example: “3aizl s 08 and ‘Wil W Y1 oa o






